Is each number a solution to this inequalitity? 2m . 5 < 1 7

You could substitute each value for
m and see if you get a true statement.
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Or you could solve the inequality
and see if each value is part
of the solution.
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| =2 Yes, -12 is less than 11
L No, 11 is not less than 11

.10 Yes, 10isless than 11

Show on a number line all the value of Q that meet the following condition:

M<-5 OR M>7

Show on a number line all the value of Q that meet the following condition:

Q>3 AND Q<10
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this inequality represents everything between 3 and 10.

You can now finish Hwk #16 -- Due Thursday



To solve inequalities you take the same steps to get the variable

by itself that you would i the problem had an = sign instead. Ticket Sales Suppose your school plans a musical. The director’s goal is ticket
Find the exact solution. ' = '
sales of at least $4000. Adult tickets are $5.00and student tickets are $4.00. Let
4-3(k+2)+8k<2k+12 - | |
@2 o arepresent the number of adult tickets and s represent the number of student
£ 5l o | R .
= = N tickets. Write an inequality that represents the director’s goal,
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Solve and graph the 1. Pick two numbers and place them on either side of the circle.

solution: j g \
7 -2x > 23 Check your answer. _< :> ;

check your answer: Pick any number 2: Plac-le—e%l%er < or > in the circle to make a correct statement
greater than -8: try 0

-3 5
7-2(0)>23 3. Pick another number and add that to both numbers and place the
- \ 7-0>23 results on either side of the circle. add 6 to both sides
SiL 7> 23 This is NOT truel!

If you test a number greater than -8 you find that
the original inequality isn't true. Therefore, x > -8 . . :
\( > — 5) 4. Place either < or > in the circle to make a correct statement

is NOT the solution!



. . 5. Pick two numbers and place them on either side of the circle.
How does adding the same number to both sides of v

an inequality affect the direction of the inequality symbol? g (9

The mequa“ty remains the same 6. Place either < or > in the circle to make a correct statement

7. Pick another number and subtract it from both numbers and place
the results on either side of the circle. subtract 5 from both sides

7 |

8. Place either < or > in the circle to make a correct statement

9. Pick two numbers and place them on either side of the circle.

How does subtracting the same number from both sides 3 Q
of an inequality affect the direction of the inequality / A
symbol?
The inequality remains the same 10. Place et er<or>in the C|rcIe to make a correct statement

11. Pick a positive number and multiply both numbers by that
number and place the results on either side of the circle. multiply both sides by 2

3 (12

12. Place either < or > in the circle to make a correct statement



How does multiplying both sides of an inequality by a
positive number affect the direction of the inequality
symbol?

The inequality remains the same

How does multiplying both sides of an inequality by a
negative number affect the direction of the inequality
symbol?

The inequality changes

direction...IT FLIPS

13. Pick two numbers and place them on either side of the circle.

Je (<) 50

14. I%}ace either < or > in the circle to make a correct statement

15. Pick a negative number and multiply both numbers by that
number and place the results on either side of the circle.  Muittiply both sides by -2

— SL@ 25

16. Place either < or > in the circle to make a correct statement

The following steps DON'T affect the direction of
the inequality:

e Adding the same number to both sides

e Subtracting the same number from both sides

¢ Multiplying both sides by the same positive number
¢ Dividing both sides by the same positive number



The following steps DO affect the direction of

the inequality:

e Multiplying both sides by the same negative number
¢ Dividing both sides by the same negative number

3. 9x-8+6x<x+7
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Solve each inequality and graph the solution

2. 8-2(x+5) <32
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You can now finish Hwk #17 - - Due Friday



